For each question, work out what number is missing from
the partitioned side. If you need some help, use mathsbot
(link is in your email) and build the number with counters.

é42.49=40.39+ é19.18=10.‘| +4.05 +

§53.06 =30.02 + 238.93 =18.8 +10.12 +
84.39=123+ 14444 =22.22 +10.1 +
E23.‘94 =10.04 + E32.94 =4.02 +19.71 +
32.75 =32.04 + 53.85 =50.01 + 0.03 +

Challenge: The following 5 questions are a little harder!
Watch the video (link in your email) if you are stuck!

51.21=21.05 +
12.32 =10.08 +
21.41=17.08 +
31.82=11.05 +

43.03 = 27.8 +
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